Parts List .«..x:

B 1N FL 4

Model: BCG200C N—=YYZr2—F 524349






HEaTROTHERIZDINT

1. EREDTEX DB

wiEs (BX) - BRES - BBHREW - MEZTHIEZEL,

INTEATIAG (X BI R D HiHE R E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23ERATIZEL,
AERRITEBRLIZLDEHYFET .
AERIBRDAFELGCEETHIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XXBRBERTLTHYET . COXXKITAFTAIM—D
ELORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeoeeeeeeseseseseseeeseeeseeeeeeeeeeee e 1~2
Ry ) Y2y R | 3~4
I (EE201/22)
S IV (ITUIT =R DU E) e 5~ 8
4. TDY (JAAILAZ =) e ssssisssesesseeeee 9~ 10
5. TV (F¥TLA, BRBEAUYD) s 1~ 12

B, AT B oo eeseenn 13 ~ 14



1. BCG200C
X K

il /

,
4 3 &
§1:7/ I



RHEES | HaES B & & &% &
1-1 364593 | BCG200C 1
1-2 230985 | B 4hUThA 1 | 24XT1.5X1372L
1-3 230987 | /U7 1
1-4 211736 | fv44=%") B 1
1-5 211737 | WM 2
1-6 054691 | YUhT7 9347 1 [ 7794
1-7 089738 | 6 YKLk 1 | M5X15
1-8 235783 | MBLIN =934T (24) 1
1-9 236111 | 387 1139 -743-9
1-10 235751 | ARYRMLY 1 |365L1/0 735
1-11 213548 | AV —bF1-7 1 |3t 10 200L
1-12 220549 | F194v-) 1
1-13 238980 | #—L7L—F 1 | BCG200C
1-14 231654 | NJv—=4 1 | ECO
1-15 222059 | £ 9YUN-7"NUNLIZET 1 16,17 2494
1-16 126993 | 6 KTk 4 | M5
1-17 222142 | ¥A Y ()W 4 | M5X28
1-18 220533 | hahh W UM H348T 1




2.BCG200C
RTIVT~NIR

1 2~11]




RHEES | HaES B & 1 &% &
2-1 224965 | AYNI—-R934T 1 [2~11744
2-2 224966 | F—2 1
2-3 215988 | hv4aL ¥k 1
2-4 215989 | A7YYY 2 | #608DD
2-5 215990 | AN —¥ 1
2-6 215991 | #'h'% 1
2-7 126232 | N3N % 1 | M8
2-8 215992 | Avakg 1
2-9 224967 | ¥'h'% 1
2-10 225896 | 6 h9K I (+) 1 | M5X10

-11 092550 | 6 HYK Lk (+)SW 1 | M5X25-7T
-12 239204 | ¥IT4AN-H34T 1 [13~19744
- 231242 | ¥774hnN - 1
- 231243 | 4797793487 1 |1516 7494
- 231244 | 597" 1
2- 231245 | 6 h9HR Wb (+)WSW 2 | M6X20X10
2- 216000 | 1-Nhv4 1
2- 092548 | 6 HYK L (+)WSW 2 | M5X15
2-1 215230 | 7N 2HH RYEFUE 2 | M5




T
—X.

™
—

AR|AEEAEE




RHES | BHRAES B & FR B % i
3-1 859826 | IVYY 1 | EE201/22
3-2 289667 | VU4 1
3-3 289643 | B AU 1 | TO5
3-4 267290 | A%V 2 | M5X20
3-5 272744 | 41UY1L—4% 1
3-6 267049 | B AFYb 1
3-7 269826 | TAIRY ()WSW 2 | M5X25WSW
3-8 289657 | ¥757tV77Y 1
3-9 266402 | A%Y1 2 | M5X55
3-10 273262 | ' AHFYb 1

-11 273519 | 7U8hinv— 1

-12 269827 | TAIRY ()WSW 1 | M5X16

- 272342 | M7hiN— 1

- 563151 | %Y1 1 | M6X15

- 261878 | TYh 1
3-1 280144 | 4YEV3Y (+) 1 | 4X16
3- 273674 | H53U9h—-2 1
3- 280488 | ATYYY 2 | PPL 6001
3- 261492 | #ANY=I 1 | ISCD12287
3-2 261386 | A4LY—I 1 | ISCD12227
3-21 055185 | C h'4kiD 1 | H28
3-22 261612 | 6 W97 Y%K L+ WSW 3 | M5X30
3-23 289671 | E'AkY 1
3-24 261158 | E'AMUY 1
3-25 261036 | E'ARIEY 1
3-26 288520 | Z—NILATYLY 1 | 8E-KV8X11X11.8
3-27 261576 | =497’ 2
3-28 267193 | 47V9v% 703077+ 1
3-29 269168 | 479F7tU77) 1 130317494
3-30 269169 | 479FY1 2
3-31 269173 | A7 vy 1
3-32 269647 | H3VFK Wb 2
3-33 269175 | 7YY 2 | 6.1X15X1.6
3-34 261777 | 9I-7"79v% 2
3-35 286529 | 77VhnN-TtU7 C 1 |36~ 38744
3-36 280506 | 77VhN— 1
3-37 286130 | #79FN3L3077)—F 1
3-38 014210 | CH'4kiD 1 |S10
3-39 269831 | 7TAQRY (H)WSW 4 | M5X20WSW
3-40 269991 | 49v3y 1
3-41 280477 | A%Ya 1 | M5X28WSW
3-42 269423 | YhHFYb 1 | M5
3-43 282403 | 4YEVAY (+) 1 | M4x14
3-44 272066 | Y5 RbFEVTT) 1 |45~ 517244
3-45 261356 | A—4% 1




T
—X.

™
—

AR|AEEAEE




RHEES | HaES B & 7 &% & =
3-46 272067 | 19 =YY3AvA(NTEUTY 1 | 47 ~ 51744
3-47 267401 | 24l 1

3-48 272068 | 1-FT7tY7) 1 |49 ~ 517244
3-49 272069 | 1-F 1

3-50 261074 | 7°39°%vv7’ 1

3-51 261075 | 794 1

3-52 261076 | nuvE— 1

3-53 261417 | $3% 0 %95+ 1 | M8

3-54 280381 | AA—1 2

3-55 261256 | 6 W97 Y%K Lk WSW 2 | M4X25
3-56 286739 | AnN=497"3Y" 1 | CJBY

3-57 267492 | -} 1

3-58 282880 | -V 1

3-59 280670 | #'mAYb 1

3-60 264588 | 4707 1

3-61 269705 | 3N 1| X0y hd5 oy
3-62 274191 | 3~ 1 [ 3A94vF191




4. BCG200C x> Py
JaAIILRA—A




HaEs B A B W B

288684 | JAMIWARI-4T71YT) 1 [2~10744
288685 | A4—4T7tU7) 1 [3~974L4
288967 | -l 1

288968 | ANATNAT YUY 1

262922 | YR 1

288969 | A-7'7ty77) 1 |7~9794
288970 | A4—40-7° 1

261725 | A4—4)7° 1

283511 | A=7°AMUN 1

288971 | A4—47"-Y7tu7") 1

269833 | TAIRY (H)WSW 1 | M4X16WSW
280489 | A1y (+)WSW 2 | M4X20

276196 | YIALIAN I 1

-10-




FrILA, BEELY

5.BCG200C T v

-11-



RHEES | HaES B & 1 &% &
5-1 289885 | ¥Y7L47tU77) 1 [2~15744
5-2 274472 | §VTRTA 1
5-3 262991 | N—=UK T4 1
5-4 262992 | KVU7hN - 1
5-5 261874 | 79347 1
5-6 283905 | #'4%¥77L 1
5-7 262993 | HATYb 1
5-8 262994 | 4'4%77L 1
5-9 282576 | h'A4Yb 1
5-10 285030 | ¥ IYh 1
5-11 261871 | O WUy 1
5— 261876 | vy 1
5— 261658 | A4~ 1
5— 264682 | A%Y1 2
5- 262996 | A%Y1 4
5— 261864 | h'A4Yb 1
5- 264691 | O Yuy 1
5- 266420 | 4Y)—FT7tU7) 1 |19~ 21744
5— 264709 | 4Y—+hn— 1
5- 266433 | H—A7tU7") 1
5-21 264695 | ILAVR 1
5-22 269834 | FA2RY (H)WSW 2 | M5X60WSW
5-23 273515 | 4u97+€77 1 |24~ 34754
5-24 273516 | 71-I)L4YY 1
5-25 275306 | 4v9%YV7TEU77 1 | 26794
5-26 274875 | NYEY 1
5-27 261696 | 7')—%"4347 1
5-28 265752 | #UYAUNATTEUT) 1 |29~ 34754
5-29 264031 | W47 9347 1 |30~ 32744
5-30 261115 | 4°'0AYb 1
5-31 261690 | #3ANA7 1 | 160L
5-32 263038 | A—nN'70-N47° 1
5-33 264653 | 7ANATEVT7) 1
5-34 261117 | 997’ 1
5-35 269828 | FTAIRY (HW 2 | M5X16W
5-36 281208 | A IRy ()W 1 | M5X16W AY4
5-37 281007 | 3A°I 1 | FI-9h4_~4

-12-




6. BCG200C
T &

-13-



RHEES | BRES =1 71 &%k fis
6-1 221460 | K3 A% 1
6-2 239205 | #3F—FAYK (R4 1UF 1
6-3 210418 | AVE'RWHAANT 1
6-4 219431 | 6 h9K AN 1 | ZAynnN 3
6-5 022865 | YIAVYFANT 1 | 8X10
6-6 238981 | M)7Yh4tYr3 1 | BCG200C

-14-




& X

Q = ULRETR
BHEHRBEXRZEO

fLyR—- b 42— EE 0120-898-114
ZFIFRSRS: AM9:00~PN5:00(X. BH. 1A % <)

EIEREET Printed in japan 2016-06.J




